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But it doesn't really tell us about the absolute SPL level. That is, the real question is how low can
I use this driver on a baffle in a box.

I'm going to defer answering that for now and just show you the comparison graphs in the dipole
unbaffled condition.

Here is a curve comparing the ZA 14 and the 10F at 500 Hz. The spl level was limited by the
sound card output at this point. The ZA14 is the winner.

Z814 in black, 5510F in red.
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I—@—l S510F_500hz 5L 34w peak.p=Z: Frequency Fesponze Data

What about 800 Hz? The gap closes.

http://web.archive.org/web/20150101053059/http://audioheuristics.org/measurements/... 19/06/2016
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At 1500 the gap is even smaller.
Z814 in black, 5510F in red.
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I—G—l S510F_1500hz_SL 34w peak pxZ: Frequency Response D ata

I've been tinkering with other ways of presenting the data, so I decided I would run the distortion tests
unbaffled in a dipole configuration until the dominant distortion product hit -20dB, which would roughly

correspond with xmax.

http://web.archive.org/web/20150101053059/http://audioheuristics.org/measurements/... 19/06/2016
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S510F 86dE at 0.25m unbaffled, dipole. Add a ballpark BdB to get the 2pi monopale spl at Tm.
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http://web.archive.org/web/20150101053059/http://audioheuristics.org/measurements/... 19/06/2016
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S510F 92dE at 0.25m unbalfled, dipole. 4dd a ballpark 3dB to get the 2pi monopole spl.
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Above 350 hz, I had to run the system with max gain (the sound card output is a bit low even at max) and I
still couldn't get to -20dB.
http://web.archive.org/web/20150101053059/http://audioheuristics.org/measurements/... 19/06/2016



